Ersatzteilliste Lista parti di ricambio
Spare parts list Onderdelenlijst
Liste des pieces de rechange Lista de repuestos

6720884282
(2019/02) Ri

SMH390.1 E S| SMH490.1 E S

8738894693.aa.RO

Buderus

14.02.2019 1 6720884282




14.02.2019 2
6720884282



[de] Wichtige Hinwelse zur Installation/Montage

Die Installation/Montage muss durch eine fiir die Arbeiten zuge-
lassene Fachkraft unter Beachtung der geltenden Vorschriften
erfolgen.

[en] Important notes on installation/assembly

The installation/assembly must be carried out by a professional
who is authorised to do the work, and with due regard to the
relevant regulations.

[fr] Instructions importantes pour ’installation/le montage

L'installation/le montage doit étre effectué(e) par un spécialiste
qualifié pour les opérations concernées et dans le respect des
prescriptions applicables.

[bg] BaxHu ykazaHus BbB Bpb3Ka € UHCTanauuATa/MoHTaxa

UHcTanaumATa/MOHTaXbT TpAGBa fa ce M3BbPLUBA OT ILIEH3UpaH
3a paboTuTe CrneuranncT B CbOTBETCTBME C NPWIOKUMNTE
pasnopenbu.

[cs] Diilezité pokyny k instalaci/montazi
Instalaci/montaz musf pfi dodrzenf platnych predpist provést
odborny pracovnik s pfislushym opravnénim pro tyto préce.
[da] Vigtige anvisninger til installationen/monteringen

Installationen/monteringen skal foretages af en godkendt installa-
ter under overholdelse af de geeldende forskrifter.

[el] Znuavtikég umobei€elc yia Tnv eykatdotacn/cuvapdoléynon
H gykatactaon/ouvappoAdynon mpénel va mpaypatomnoleital and
£§ouc1080TNPEVO YIa TIG EPYATieg AUTEG TEXVIKO MPOCWMIKO, TO
omnoio Ba mpémel va (ppovTiel DOoTe va TNPOoUVTAl Ol LoYUOUGEG
Slata&eic.

[es] Indicaciones importantes para instalacién/montaje
La instalacién/el montaje lo debe realizar personal especializado
autorizado para los trabajos, respetando las prescripciones vigen-
tes.

[et] Olulised juhised paigaldamiseks/montaaZiks
Paigaldamist/montaazi tohib ldbi viia selleks volitusi omav
spetsialist, arvestades kehtivaid néudeid.

[fl] Belangrijke aanwijzingen betreffende de installatie/montage

De installatie/montage moet worden uitgevoerd door een voor de
werkzaamheden geautoriseerde installateur. Hij moet rekening
houden met de geldende voorschriften.

[fi] Térkeitd asennus- ja kokoonpano-ohjeita

Naihin téihin hyvaksytyn ammattiasentajan pitéa suorittaa asen-
nus- ja kokoonpanoty&t voimassa olevien maardysten mukaisesti.

[hu] Fontos tudnivaldk az installdldshoz/szereléshez
Az installdlast/szerelést egy, a munkékra felhatalmazott
szakembernek kell végeznie, az érvényes el6irasok
figyelembevételével.
[it] Avvertenze importanti per I'installazione/il montaggio
L'installazione/il montaggio deve aver luogo ad opera di una ditta
specializzata ed autorizzata in osservanza delle disposizioni
vigenti.
[he] 8608369¢mmgs60 Bomomgdgdo 0Bldsmsgoobmzgol/dmbdsgolsmgol
0BbEm305/0mbFog0 MBs 3obbmMEogwgl badmdsmgdobomgol sdzgdmao
333an0x030©o 3g@lmbsammols dog, dmgdgwo gsbsfiglol sggoom.
[it] Svarbios instaliavimo ir (arba) montavimo nuorodos
Instaliuoti ir montuoti, laikantis galiojan¢iy taisykliy, leidziama
kvalifikuotiems specialistams, kurie buvo jgalioti $iems darbams
atlikti.

14.02.2019

[Iv] Svarigi noradijumi par iekartas uzstadiSanu / montazu
lekartas uzstadiSanu/montazu ir javeic specializétam sertificétam
specialistam, ievérojot speka eso3os noteikumus.

[nl] Belangrijke aanwijzingen betreffende de installatie/montage

Deinstallatie/montage moet worden uitgevoerd door een voorde
werkzaamheden geautoriseerde installateur rekening houdend
met de geldende voorschriften.

[no] Viktig informasjon om installasjon/montering
Installasjonen/monteringen skal giennomfares av autoriserte
installaterer, og gjeldende forskrifter skal fglges.

[pl] Wazne wskazéwki dotyczace instalacji/montazu
Instalacja/montaz musza by¢ wykonane przez uprawnionego

do tego rodzaju prac specjaliste przy zachowaniu obowigzujacych
przepiséw.

[pt] Indicagées importantes relativas a instalagao/montagem

A instalagao/montagem deve ser efetuada por um técnico espe-
cializado com qualificagbes para estes trabalhos, tendo em aten-
¢éo os regulamentos em vigor.

[ro] Indicatii importante privind instalarea/montajul

Instalarea/montajul trebuie realizate de cdtre un specialist autorizat
pentru lucrdrile respective, respectandu-se prescriptiile valabile.

[ru] BaxkHble YKazaHusA no I'IOAKHIO'-IeHVIIOIMOHTa)Ky

MopaknioueHne/MOHTaX AOMKHbI BLINOMHATL CreLManucTbl,
MMeLMe AoNYCK K BLINOMHEHUIO Takux paboT, npu cobniogeHnm
AEVCTBYIOLMX HOPM U NMpaBw.

[sk] DéleZité pokyny tykajlice sa instaldcie/montaZe
In3talaciu/montaz musi realizovat odbornik s oprédvnenim na
vykon tychto préc, pri¢om musi dodrZovat platné predpisy.
[sl] Pomembni napotki za namestitev/montazo
Namestitev/montaZo mora izvesti strokovnjak, pristojen za
tovrstna dela, ob uposte vanju veljavnih predpisov.

[sr] Vazna uputstva za ugradnju i montazu

Ugradnju i montazu moraju da obave samo strucna lica ovlas¢ena
za izvodenje takvih radova koja ¢e postovati vazece propise.

[sv] Viktiga anvisningar foér installation/montering
Installationen/monteringen maste utforas av en behérig och fack-
kunnig person enligt gdllande féreskrifter.
[tr] Kurulum/Montaj ile ilgili 6nemli uyarilar
Kurulum/Montaj calismalari sadece yetkili bayiler tarafindan
asagida belirtilen talimatlar dikkate alinarak yapilmalidir.
[uk] Baxxnusi BKasiBKM 040 YCTAHOBKUWMOHTaXY
YcTaHOBKY/MOHTaX MaloThb 3jliicHIoBaTK dpaxisLy, Lo MaloTb fo3sin
Ha NpoBefeHHA UuX pobiT, i3 AOTPUMAHHA YNHHUX NPUNACIB.
[zh] &RFEMEERR
DAZR R BB VF R AR AR T L AR (K1 M A B B DS VR R REAT 22 8.
araaillfous 5l Laa cidiadia [ar]
Ayt 223 5l sle ya pa anlly 4l 7 gean (pacaite 38 e preadllfa 3 o5 of ang
5 gafiqual 0 jl 3 pga il S35 [fa]
JalSaa sl Gaigar 5 sl IS Col alanil 4y Slave 4K (6) 4B ya 638 dann 5T 3y U pefcuaa
g alah Ada g pe e 4y

6720884282



Ersatzteilliste Liste des piéces de rechange Onderdelenlijst
Spare parts list Lista parti di ricambio Lista de repuestos

@/8

?/\ A
15 /'/

8738894694.aa.RO

SMH390.1 ES/SMH490.1 E S SMH390.1 E S | SMH490.1 E S
SMH390.1 ES/SMH490.1 E S

SMH390.1 E S/SMH490.1 E S
SMH390.1 E S/SMH490.1 E S
SMH390.1 E S/SMH490.1 E S
SMH390.1 E S/SMH490.1 E S

14.02.2019 4 6720884282




Pos |Bezeichnung Bestell-Nr. QQ Bemerkungen
Description Ordering no. w1 n Remarks
Dénomination Numéro de commande ﬂ ﬂ Remarqugs .
Descrizioni N° d'ordine SIS Osservazioni
Benaming Bestelnummer 23 Opmerkingen
Descripcion Numero el ordenar z13 Observaciones

1 |Abdeckung D700 Deckel schwarz 7735501778 |m|®m
2 |Folienmantel Silber 390 7735501899 | m

2 |Folienmantel Silber 490 7 735501 900 u
3 |Thermometer 87172080500 m =
4 |Klemmfeder (1x) 87146060240 m ' m
6 |Klemmfeder (1x) 87146060380 B ®
7 |Kettenanode 1 1/4" 87397222400 m |\ m
8 |Isolierung D90x20 87123035160 m ' m
9 |Flansch DN180 87155033470 W | m
10 |Dichtung DN110 87101031580 m ' m
11 |Abdeckung+isolierung D197 schwarz 8735100030 |m\m
12 |Tauchhilse R1/2"x200 (1x) 87107021110 m|'m
13 |Klemmfeder (1x) 87146060210 B | ®m
14 |Schraube M10x25 (10x) 29110602910 m | m
15 |Isolierung Handloch 500 schwarz 8735100273 |m|\®m
16 |Abdeckung E-Muffe 390-490 7735501901 |m|\m
17 |Stopfen G1 1/2" mit PTFE-Ring PB2 8 735 100 199 LR

SMH390.1 E S| SMH490.1 E S

SMH390.1 E S/SMH490.1 E S
SMH390.1 E S/SMH490.1 E S
SMH390.1 E S/SMH490.1 E S
SMH390.1 E S/SMH490.1 E S
SMH390.1 E S/SMH490.1 E S

SMH390.1 E S/SMH490.1 E S

14.02.2019

6720884282




Ubersetzungsliste
List of translations

Liste des traductions
Traduzione delle descrizioni

Vertalinglijst
Lista de traducciones

Pos | Description Denomination Descrizione Benaming Descripcion
1 |Element of construction Groupe de construction Gruppo di construzione Montagegroep Grupo de construccion
1 |Cover Top Black D700 Packed |Couvercle Couvercle D700 noir |Copertura Coperchio D700 nero | Afdekking Deksel D700 zwart |Recubrimiento Tapa D700 negro
2 |Cover Jacket Silver 390 packed |Habillage film argent 390 Pellicola di rivestimento argentato 390 | Foliemantel zilver 390 Plastico de proteccion plata 390
2 |Cover Jacket Silver 490 packed |Habillage film argent 490 pellicola di rivestimento argentato 490 | Foliemantel zilver 490 Plastico de proteccion plata 490
3 | Thermometer Thermom#tre Termometro Thermometer Termoémetro
4 |Clamp spring (1x) RESSORT POUR THERMOMETRE (1x) | Fermo (1x) KLEMVEER VITHERMOMETER ST/sO (1x) | Muelle fijacion (1x)
6 |Clamp spring (1x) Ressort (1x) Fermo (1x) Haarspeldveer (1x) Muelle de tecla (1x)
7 |Chain anode 1 1/4" ANODE MAGNESIUM 1 1/4", 290 - 450 |Anodi a catena 1 1/4" Opofferingsanode 1 1/4" Cadena de anodos 1 1/4
8 |Insulation D90x20 Isolation D90x20 Isolamento D90x20 Isolatie D90x20 Aislamiento D90x20
9 |Connecting flange DN180 Trappe de visite DN180 Flangia DN180 Aansluitflens DN180 Brida de conexién DN180

=
o

Gasket DN110

Joint DN110

Guarnizione DN110

Pakking DN110

Junta DN110

[Eny
[N

Hand hole cover + insulation D197 black

Couvercle + isolation D197 noir

Copertura + isolamento D197 nero

Afdekking + isolatie D197 zwart

Recubrimiento + aislamiento D197 negro

=
N

Sensor pocket R1/2"x200 (1x)

Douille R1/2"x200 (1x)

Boccola R1/2"x200 (1x)

Dompelhuls R1/2"x200 (1x)

Casquillo de la caldera R1/2"x200 (1x)

=
w

Clamp spring (1x)

Ressort (1x)

Fermo (1x)

KLEMVEER NTC SK120/140/160-4ZB (1x)

Muelle de tecla (1x)

=
~

Screw M10x25 (10x)

Vis M10x25 (10x)

Vite M10x25 (10x)

Schroef M10x25 (10x)

Tornillo M10x25 (10x)

=
4]

Insulation Access Hole 500 black

Isolation Trou de poing 500 noir

Coibentazione ispezione 500 nero

Isolatie Handgat 500 zwart

Aislamiento Punto de acceso manual 500

=
o

Insulation set e-heater 390-490 packed

Couvercle manchon chauff électric390-490

Copertura Riscaldam. manicotto 390-490

Afdekking Elektrisch verwarm. - 390-490

Recubrimiento - 390-490

[Eny
~

Plug G 1 1/2" with PTFE-Ring PB2 SP

Bouchon G1 1/2" PB2

Tappo G 1 1/2" con anello di PTFE PB2

Pluggen G 1 1/2" met PTFE-ring PB2

Tapén G 1 1/2" con anillo de PTFE PB2

14.02.2019

6720884282




Geratetypen Types de chaudieres Toesteltypes
Types of appliances Tipo apparecchi Tipos de aplicaciones
Gerét Bestell-Nr. Land S-Nr. Bemerkungen
Appliance Ordering no. Country S-Nr. Remarks
Chaudiere Numéro de commande Pays S-Nr. Remarques
Apparecchio N° d'ordine Paese S-Nr. Osservazioni
Toestel Bestelnummer Land S-Nr. Opmerkingen
Aparato Numero el ordenar Paese S-Nr. Observaciones

SMH490.1 E S-C

8732921 684

Belgien,Bosnien und Herzegowina, Deutschland

SMH390.1 E S-C

8 732 921 682

Belgien,Bosnien und Herzegowina, Deutschland

14.02.2019

6720884282




Bosch Thermotechnik GmbH

Sophienstr. 30-32
D-35576 Wetzlar / Germany B u d e ru s

14.02.2019 8 6720884282




